1.6 Anti-cavitation valves C/...

BUCHER
hydraulics

F ‘7 HDM11S Type Code
or. —
L HDs11 w2525 TE—
A/B
C/A or C/B 200.7876.0093.0
AB gl @‘
— k7)) i@ VC (plugged valve) 200.7784.0004.0
L
T T % 10.5
42,5525 N @V Type Code
For: —‘ _—
A/B CIAor C/B 200.7876.0143.0
VC (plugged valve) 200.7784.0005.0
95
.
For: HDS20 - HDS30 = Type Code
62.5%2.5 Nm
A/B % & C/AorC/B 200.7876.0144.0
)
VC (plugged valve) 200.7784.0007.0

200-P-991210-EN-03/09.2015

5/220




1.7 Anti-shock valves OA/...

BUCHER
hydraulics

Pressure set
For ‘ HDM11S range Type Code Spring code
" HDS11 bar (PSI)
. 0-30 OA/A02
42,5225 Nm @ﬁ (0-400) OABo2 | 200787400920 | 200.6624.0113.0
10+2 Nm A/B
31-130 OA/A06
(400-1900) OA/B06 200.7874.0094.0 | 200.6624.0070.0
131 -300 OA/A15*
(1900-4300) OA/B15 200.7874.0093.0 | 200.6624.0077.0
L
| ! VC (plugged valve) | 200.7784.0004.0 -
HDM18 Pressure set
For: —‘ range Type Code Spring code
HDS15 bar (PSI)
425225 Nm @V 28525 Nm @? 0-130 OA/A06
A/B -
(0-1900) OA/BO06 200.7874.0095.0 | 200.6624.0115.0
s"'f;’
,///4. "%Illll l“v
N+ | 131 - 350 OA/A15
E
& ‘f\ ———= // - (1900-5000) OA/B15 200.7874.0096.0 | 200.6624.0116.0
% N L'
T
AB (150 bar) VC (plugged valve) 200.7784.0005.0 -
Pressure set
For: HDS20 - HDS30 range Type Code Spring code
bar (PSI)
. 0-95 OA/A06
62525 m T (0-1300) OA/Bog | 200.7874.0108.0 | 200.6624.0145.0
A/B
96 - 210 OA/A15
7 —— - ——% \\\ (1300-3000) OA/B15 200.7874.0113.0 | 200.6624.0148.0
=,§>\\\ 211 - 350 OA/A26
e 3000.5000) | OAB26 | 200787401100 | 200662401460
A/B T 32*
(150 bar) T
VC (plugged valve) 200.7784.0007.0 -

Example : OA/A15** = 150 bar standard set value. Different set values have to be specified at the order. Please pay attention that any increasing/decreasing

from 150 bar has to be fixed in step of 10 bar.
**: This length changes as function of the pressure relief valve setting

200-P-991210-EN-03/09.2015

6/220




1.8 Anti-shock and anti-cavitation valves

BUCHER
hydraulics

uUcC/...
—— HDM11S Pressure set
For — range Type Code Spring code
L HDS11 bar (PSI)
e 0-30 UCIA02 | 1 7874.0126.0 | 200.6624.0113.0
o AJB (0-400) uc/B02
_ 3
(400-1500) UoBos | 200787401290 | 200662400700
(11;’010: 3230) ﬂgg:g 200.7874.0127.0 | 200.6624.0077.0
QT
| VC (plugged valve) 200.7784.0004.0 -
For. HDM18 Pressure set
ST range Type Code Spring code
— HDS15 bar (PSI)
27.5%2.5 Nm @V 28.5%2.5 Nm W
3/ A/B (g_’1;gg) Doy | 200787401310 | 200662401150
I e (11:(;0'2580) UGBt | 200787401320 | 200662401160
S 717 Z -
L =
A/B T (150 ban) T VC (plugged valve) 200.7784.0005.0 -
Pressure set
For: HDS20 - HDS30 bran(ggl) Type Code Spring code
ar
62525 N D)7 01300) UCIB0g | 200787401360 | 200662401050
A/B
2 )8 ) -
; ((4,«_-_-/////“/4—‘/%4/(/{((“ (19003000 | Uiy | 200787401380 | 200662401070
oways 211 - 350 UC/A26
e i 200.7874.0137.0 | 200.6624.0106.0
% (3000-5000) | UC/B26
AB T
VC (plugged valve) 200.7784.0007.0 -

(150 bar)

Example: UC/B06*= 60 bar standard set value. Different set values have to be specified at the order. Please pay attention that any increasing/decreasing from

60 bar has to be fixed in step of 10 bar.
**: This length changes as function of the pressure relief valve setting

1.9 Tightening torque values

200-P-991210-EN-03/09.2015

Component description to be assembled Nm
Position control sleeve screwed to spool 10+2
End caps handles (2 X M5 screws for HDM140-HDM11-HDS11) 8+2
End caps handles and position control sleeves (2 X M6 screws for HDM18-HDM25-HDS15-HDS20-HDS30) | 8 +2
"HDS07- HDS11” stack (3 X M8 bolt) 16 +2
"HDS15” stack (3 X M8 bolt) 18 +2
“HDS20" stack (4 X M8 bolt) 20+5
"HDS30” stack (4 X M10 bolt) 25+5
7/220




